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Note:	 The question paper is divided into three sections A, B and C. Write 
answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 7 × 1 = 7
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question delimit 
your answer in one word, one sentence or maximum up to 30 
words. Each question carries 1 mark.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
1 A§H$ H$m h¡&
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1)	 (i)	 Give the name of electronic transition in the following 
compounds: (a) Ethanal (b) Stgrene

		  {ZåZ ¶m¡{JH$mo ‘| Bbo³Q´>mo{ZH$ Ho$ àH$ma H$mo nhMm{ZE&
		  (a)  EWoZob (b) ñQ>mBarZ

	 (ii)	 What are Chromophore? Explain 
		  dU©‘ybH$ ³¶m hmoVo h¡, g‘PmBE&

	 (iii)	 What are overtones?
		  A{YñdaH$ ³¶m hmoVo h¡?

	 (iv)	 Complete the following reaction.
		  {ZåZ A{^{H«$¶m H$mo nyU© H$s{OE&
		  R COR Li AlH A4 H O

THF

2
+

	 (v)	 Complete the following reaction
		  {ZåZ A{^{H«$¶m H$mo nyU© H$s{OE&
		  CH CH CH B3 2 H O(ii)

OSO (i)

2
4- = +

	 (vi)	 Arrange the following molecules in increasing order of acidity.
		  ZrMo {X¶o ¶m¡{JH$mo H$mo CZH$s Aåbr¶Vm Ho$ ~T>Vo H«$‘ ‘| O‘mBE&

		  (a)  
OH

      (b) 

OH

Br

      (c)  

OH

   (d) 

OH

OCH3

   

	 (vii)	What is Reimer - Tiemann Reaction?
		  amB‘a - Q>mB‘Z A{^{H«$¶m ³¶m hmoVr h¡?
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	 Section - B	 4 × 3.5 = 14
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not exceed 
200 words. Each question carries 3.5 marks.

IÊS> - ~
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 3.5 A§H$m| H$m h¡&

2)	 Calculate maxm  for the compounds using Beer's Lamberts Law.
	 {ZåZ ¶m¡{JH$mo Ho$ ã¶r¶a boå~Q>© {Z¶‘ H$s ghm¶Vm go maxm  Ho$ ‘mZ H$mo 

n[aH${bV H$s{OE&

	 (a)       (b)          (c)        (d)    

3)	 Differentiate the compounds on the basis of IR spectra.
	 {ZåZ{b{IV ¶m¡{JH$mo H$mo CZHo$ IR ñno³Q´>m Ûmam H¡$go {d^o{XV H$a|Jo&
	 i)	 Alkanol and Alkoxy alkane /  EëHo$Zm°b Ed EëH$moå~r EëHo$Z
	 ii)	 Benzaldehyde and Acetophenone / ~oÝOpëS>hmBS> Ed§ EgrQ>moH$sZmoZ
	 iii)	 Benzene and Cyclohexane / ~oÝOrZ Ed§ gmB³bmoho³goZ
	 iv)	 Phenol and Cresol  / ’$sZm°b Ed§ H«$sgmob

4)	 How to obtain the followings : / {ZåZ H$mo H¡$go àmßV H$a|Jo&
	 i)	 P-Cresol from diazonium salt
		  S>mBEoOmo{Z¶‘ bdU go P-{H«$gm°b
	 ii)	 Phenol from Salicylic acid
		  g¡{b{g{bH$ Aåb go ’$sZm°b
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5)	 Write a brief note on the following:
	 {ZåZ{b{IV na {Q>ßnUr {b{IE&
	 i)	 Reimer Tiemann Reaction
		  amB‘a - Q>mB‘Z A{^{H«$¶m
	 ii)	 Fries rearrangement
		  ’«$sO nwZ{d©Ý¶mg

6)	 For Ether synthesis, explain the following:
	 B©Wa g§íbofU Ho$ {bE {ZåZ H$mo g‘PmB¶o&
	 i)	 Dehydration of alcohol and its mechanism
		  EoëH$mohm°b H$m {ZO©bH$aU Ed§ {H«$¶m{d{Y
	 ii)	 Williamson synthesis
		  {d{b¶‘gZ g§íbofU

7)	 Explain the mechanism of Nudeophilic addition reaction and give the 
order for nudeophilic addition for HCHO, CH3CHO and (CH3)2CO

	 Zm{‘H$ñZohr ¶moJmË‘H$ A{^{H«$¶m H$s {H«$¶m{d{Y ~VmBEo& HCHO, 
CH3CHO VWm (CH3)2CO ‘| Zm{^H$ñZohr ¶moJmË‘H$ A{^{H«$¶merbVm H$m 
H«$‘ g‘PmB¶o&

8)	 Write a brief note on the following:
	 {ZåZ na g§{jßV {Q>ßnUr H$s{OE&
	 i)	 Merween Pondroff verely reduction reaction
		  ‘radrZ nm°ÝS>mH©$-dbu AnM¶Z
	 ii)	 Clemenson reduction
		  ³br‘ÝgZ AnM¶Z A{^{H«$¶m

9)	 Explain Claisen rearrangement.
	 ³boOZ nw{Z©{dÝ¶mg g‘PmBE&
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	 Section - C	 2 × 7 = 14
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 7 
marks.

IÊS> - g
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 7 A§H$m| H$m h¡& 

10)	 Write short notes on the following:
	 {ZåZ na g§{jßV {Q>ßnUr H$s{OE&
	 i)	 Reduction of Monocarboxylic acids in different conditions.
		�  ‘moZmoH$m~m©p³g{bH$ Aåbmo Ho$ {d{^ÝZ n[apñW{V¶m| ‘| AnM¶Z H$mo 

g‘PmBEo&
	 ii)	 Hel-Velard Zelenski reaction.
		  h¡b-ìhmobmS>© Oo{bÝgH$s A{^{H«$¶m
	 iii)	 Decarboxylation
		  {S>H$m~m}p³gbrH$aU

11)	 Write a short note when. Acid chlorides undergo reaction with the 
following:

	 Aåb ³bmoamBS>mo H$s {ZåZ Ho$ gmW A{^{H«$¶mAmo H$mo g‘PmBEo&
	 i)	 Hydrolysis / Ob AnKQ>Z
	 ii)	 Esterification /  EñQ>arH$aU
	 iii)	 Reduction with LiAlH4 / LiAlH4 Ûmam AnM¶Z
	 iv)	 Formation of anhydride / EoÝhmBS´>mBS> H$m ~ZZm
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12)	 What is sulphonation. Write Hinsberg test for detecting primary, 
secondary and tertiary amines.

	 gë’$mo{ZH$aU ³¶m h¡? àmW{‘H$, {ÛVr¶H$ Ed§ V¥Vr¶H$ Eo‘rZmo Ho$ narjU 
Ho$ {bE {hÝg~J© {d{Y H$m dU©Z H$s{OE&

13)	 Write short notes on any three of the following reactions.
	 {ZåZ A{^{H«$¶mAmo na g§{jßV {Q>ßnUr H$s{OE&
	 i)	 Sandmayer reaction
		  g¡ÊS>‘o¶a A{^{H«$¶m
	 ii)	 Gatterman reaction
		  J¡Q>a‘mZ A{^{H«$¶m
	 iii)	 Baltz - shemann reaction
		  ~¡ëO-er‘¡Z A{^{H«$¶m
	 iv)	 Coupling reaction
		  ¶w½‘Z A[^{H«$¶m


